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Ques Solution Explanation T/L 

QUESTION 1 [23 MARKS] 

1.1.1 Interest earned on the positive balance (R85 960,00) 

brought forward✓✓E 

 

2E correct 

explanation  

                            (2)                                                    

F 

L1 

1.1.2 R85 960,00✓✓RT 2RT correct reading 

                            (2)                                               

F 

L1 

1.1.3                                             ✓MA 

Annual Interest Rate =
R26,61 × 365

R85 960✓M
× 100% 

                                    = 11,30%✓A 

1MA multiplying by 

365 

1M dividing by R85 

960 

1A correct answer  

                            (3)                                             

F 

L2 

1.1.4 (i) R77 486,61✓A 
(ii) R83 477,61✓A 

(iii) R86 029,42✓A 
(iv) R86 029,42✓A 

1A correct amount 

1A correct amount 

1A correct amount 

1A correct amount 

                            (4)                                                

F 

L2 

1.1.5 Money that went out of the account✓✓E 2E correct 

explanation 

                            (2)                                                

F 

L1 

1.1.6                                                            ✓M 

Total Amount Credited = (R26,61 + R15 700) + 

                                            (R11 233,89 + R6 597,92)✓M 

                                        = R33 558,42✓A 

1M for (R15 700 + 

R26,61) 

1M for (R11 233,89 

+ R6 597,92) 

1A correct answer 

                            (3)                                               

F 

L1 

1.2.1 Increase in the price/cost of transportation from April 

2018 to March 2019✓✓E 

2E for correct 

explanation   

                            (2)                                               

F 

L1 

1.2.2 111,4✓✓RG 2RG correct reading 

from graph 

                            (2)                                                                                             

F 

L1 

1.2.3 
Percentage Change =

111,7 − 109,1✓M

109,1✓M
× 100% 

                                  = 2,38%✓A 

 

1M numerator 

1M denominator 

1A correct 

percentage   

                            (3)                                            

F 

L2 
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QUESTION 2 [15 MARKS] 

2.1.1 Australia✓✓RT 2RT reading from 

table   

                            (2)                                             

F 

L1 

2.1.2 $45 = 45 × R14,2750✓M 

        = R642,38✓C 

1M multiplying by 

R14,2750 

1C conversion  

                            (2)                                              

F 

L1 

2.1.3 Fee = 2,28% × R50 000✓SF 

       = R1 140✓S 

Total charge = R1 140 + R74,55✓M 

                         = R1 214,55✓A 
 

1SF correct 

substitution 

1S simplifying 

1M adding admin 

fee (R74,55) 

1A answer   

                            (4)                                             

F 

L3 

2.1.4 €102,80 = 102,80 × R16,8095✓M 

               = R1 728,02✓C 

1M multiplying by 

R16,8095 

1C conversion 

                            (2)                                                                                           

F 

L2 

2.2.1 A compound bar graph.✓M 

It makes it easy to compare inflation rates for different 
provinces and national rates.✓J 

1M correct graph 

 

1J justification  

                            (2)                                                                                            

DH 

L4 

2.2.2 

 

 

 

 

 

 

 

 

 

 

 

 

 

1M for NC bar 

1M for EC bar  

1M for WC bar   

                            (3)                                                                                         

DH 

L3 
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QUESTION 3 [17 MARKS] 

Ques Solution Explanation 
T&

L 

3.1.1 Boarding time = 8:30 – 7:15 ✓MA   

 

                       = 1 hour 15 minutes ✓A   

 

1MA   subtracting 

 

1A       correct answer 

AO  (2) 

MP 

L1 

3.1.2 12 stops✓A 

 

Sedgefield and Kysna✓A 

 

1A       correct answer 

 

1A       correct answer 

 (2) 

MP 

L1 

3.1.3 ✓A 

Duration of journey = 21:45 – 8:30✓M 

 

=13 hours 15 minutes✓CA 

1A       correct times 

1M       subtracting 

1CA    answer 

         (3) 

AO 

MP 

L2 

3.2.1  

 

Measure distance = 9cm✓M 

 

Actual distance =  
100000

96000009 cm
  ✓MA✓C  

 

                         = 864 km✓CA 

 

Accept 1mm leeway 

 

1M measuring distance 

 

1MA   multiplying by scale 

1C       conversion 

 

1CA    answer                                            

(4) 

MP 

L2 

3.2.2 
Speed of car =  

4,8

864
  ✓SF ✓C 

 

                    = 102,86 km/h✓CA 

 

Speed of bus =  
25,13

864
   

 

                     = 65,21km/h✓CA 

Comparison of speed =  
21,65

86,102
  ✓M 

 

                                  = 1,58 times 

 

Statement is INCORRECT 

 

CA from Q3.1.3 and Q3.2.1 

1SF substitution 

1C       conversion to hours 

1CA    speed 

 

 

 

1CA    speed 

 

1M      dividing by 65,21 

 

 

 

1O        explanation                    (6) 

 

MP 

L3 
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QUESTION 4 [20 MARKS] 

Ques Solution Explanation T &L 

4.1. Diameter of chocolate = 1,5 × 2 

                                    = 3cm✓A 

 

Base of Cylinder = 3,4 cm ÷ 3 

                            =1,13✓A 

  

Height of cylinder = 10 ÷ 3 

                              =3,33 

                              =3 chocolates✓CA 

 

 

1A   diameter  

 

 

1A answer 

 

 

 

1CA answer 

                                             (3) 

MM 

L3 

4.2 Volume of a rectangular prism = 3.5× 3.95× 10✓SF 

                                                    =138.25cm3
✓A 

 

Volume of a Cylinder = 3,142 ×1,72 × 10✓SF 

                                     = 90.80 cm3
✓A 

 

Volume of 3 chocolates = 14,14 × 3✓M 

                                       = 42,42 

 

Cylinder is the better option✓O 

 

1SF   substitution 

1A     correct answer 

 

1SF   substitution 

1A     correct answer 

 

1M      multiplying by 3 

 

 

1O     opinion                      (6) 

                                                                                       

MM 

L3 

4..3  ✓SF 

SA of a prism = 2(3.95× 3.5) + 2(3.5 × 10) +2(3.95 × 10) ✓SF 

                      = 176.65cm2
✓A 

 

SA of a Cylinder = 2×3.142 ×1.72 + 2× 1.7×10✓SF 

                           =124,99 cm2
✓A 

 

Difference =176,65 – 124.99✓M 

                  =51.66cm2
✓CA 

 

1SF   substitution 

1A     correct answer 

 

 

1SF   substitution 

1A     correct answer 

 

1M    subtracting 

1CA answer 

(6)                                                                                       

MM 

L3 

4.4 Total cost = 

✓M  ✓M  ✓M ✓M 

(R4.60 × 600) +(R2.73×200) + (3.45×200)+(R6.22×20) 

=R4120✓CA 

1M       cost of chocolate 

1M       cost of labe1 

1M       cost of container 

1M       cost of cardboard box 

1CA     answer 

   (5) 

F 

L3 
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